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Abstract. In this paper, we present a modified subgradient extragradient method with double inertial
extrapolation terms and a non-monotonic adaptive step size for solving quasi-monotone and Lipschitz
continuous variational inequalities in real Hilbert spaces. Under some suitable conditions, we obtain the
weak convergence theorem of our proposed algorithm. Moreover, strong convergence is obtained when
the cost operator is strongly pseudo-monotone and Lipschitz continuous. Finally, several numerical results
illustrate the effectiveness and competitiveness of our algorithm.

1. Introduction

Throughout this paper, let H be a real Hilbert space with inner product ⟨·, ·⟩ and induced norm ∥ · ∥. It is
well known that the classical variational inequality problem (VIP, for short) is defined as: find v ∈ C such
that

⟨Av, y − v⟩ ≥ 0, ∀y ∈ C, (1)

where C is a nonempty, closed, and convex subset of H and A : H → H is a continuous mapping. The
solution set of VIP is denoted by S.

The variational inequality problem has been widely used to problems such as nonlinear programming,
network equilibrium problems and complementarity problems (see, for example, [9, 16, 24] and the refer-
ences therein). So far, a number of iterative algorithms have been proposed for solving the VIP (see, for
example, [1, 6, 7, 22, 23, 32, 38, 40] ), we mainly focus on several projection methods that inspire us to
investigate new algorithms.

One of the most popular early algorithms for solving the problem (1) is the extragradient method
(EGM), which was presented by Korpelevich in [18]. This method was first introduced to solve saddle
point problems in finite dimensional spaces. It is of the form: Choose x1 ∈ C,L > 0, λn ∈ (0, 1

L ),{
yn = PC(xn − λnAxn)
xn+1 = PC(xn − λnAyn).

(2)
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It was shown that {xn} converges weakly to a solution of VIP when the operator A is monotone and
L-Lipschitz continuous. In recent years, the extragradient method has been extend to infinite spaces in
various ways (see, for example, [2, 11, 27, 28, 34]). However, the extragradient method needs to calculate
two projection values onto the feasible set in each iteration, which might be difficult if the feasible set C is
a general closed and convex set.

To overcome the major drawback of algorithm (2), Censor et al.[4] introduced the following subgradient
extragradient method (SEGM), which uses a projection onto a specific half-space in place of the second
projection onto C in the EGM. It is of the form: Given x0 ∈ C,L > 0, λn ∈ (0, 1

L ),
yn = PC(xn − λnAxn)
Tn = {w ∈ H : ⟨xn − λnAxn − yn,w − yn⟩ ≤ 0}
xn+1 = PTn (xn − λnAyn),

(3)

the weak convergence has been obtained when the operator A is monotone and L-Lipschitz continuous.
Several improved versions of the SEGM have been proposed (see, for example, [3, 30, 31, 33, 36]).

Quite recently, many authors are committed to investigating algorithms with inertial extrapolation terms,
which can be used to speed up the convergence of iterative methods for variational inequalities effectively
(see, for example [8, 10, 14, 29, 35]). Shehu et al.[26] presented a modified subgradient extragradient method
with single inertial step and self-adaptive step sizes to solve VIP: Given λ1 > 0, x0, x1 ∈ H and µ ∈ (0, 1),

wn = xn + θn(xn − xn−1)
yn = pc(wn − λnawn)
tn = {w ∈ h : ⟨wn − λnawn − yn,w − yn⟩ ≤ 0}
xn+1 = (1 − αn)xn + αnptn (wn − λnayn),

(4)

where

λn+1 =

 min{
µ∥wn − yn∥

∥Awn − Ayn∥
, λn}, i f Awn , Ayn,

λn, otherwise,

and 0 ≤ θn ≤ θn+1 ≤ 1, 0 < α ≤ αn ≤ αn+1 ≤
1

2+δ (δ > 0). If the operator A is monotone and L-Lipschitz
continuous, then the sequence {xn} generated by algorithm (4) converges weakly to a solution of VIP.

Inspired by Shehu et al.[26], Yao et al.[37] proposed a relaxed SEGM with double inertial extrapolation
steps, that is, added an inertia to the algorithm (4). It is of the form: Given λ1 > 0, x0, x1 ∈ H and µ ∈ (0, 1),

zn = xn + δ(xn − xn−1)
wn = xn + θn(xn − xn−1)
yn = PC(wn − λnAwn)
Tn := {w ∈ H : ⟨wn − λnAwn − yn,w − yn⟩ ≤ 0}
xn+1 = (1 − αn)zn + αnPTn (wn − λnAyn),

(5)

where

λn+1 =

 min{
µ∥wn − yn∥

∥Awn − Ayn∥
, λn}, i f Awn , Ayn,

λn, otherwise,

and 0 ≤ θn ≤ θn+1 ≤ 1, 0 ≤ δ < min{ ϵ−
√

2ϵ
ϵ , θ1}, 0 < α ≤ αn ≤ αn+1 < 1

1+ϵ (2 < ϵ < ∞). {xn} converges weakly
to a solution of VIP when A is pseudo-monotone and L-Lipschitz continuous. Moreover, in the Numerical
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Examples section of Yao et al.[37], it has been shown that this method is more efficient and implementable
than the algorithm (4).

It is worth mentioning that very few authors consider the existing methods when the operator A is
quasi-monotone, which is weaker than the usual monotone (or pseudo-monotone) condition. Obviously,
convergence results obtained under quasi-monotone can be generalized to the results under monotone (or
pseudo-monotone), but the reverse may not be true.
Our contributions:
• We introduce a modified subgradient extragradient method with double inertial extrapolation steps
to solve the variational inequality problem in real Hilbert space, our method accelerate the convergence
rates of the methods in [26, 37] effectively. Compared with the method in [37], our algorithm has the
following advantages: (1) we obtain weak convergence result under a weaker operator condition (A is
quasi-monotone rather than pseudo-monotone); (2)we take a modified non-monotonic step size, which
accelerates the convergence rate effectively; (3) δn is variable in the inertia term zn = xn + δn(xn − xn−1) in our
paper.
•We obtain {xn} generated by Algorithm 1 converges strongly to a point of S when the operator A is strongly
pseudo-monotone; We obtain {xn} generated by Algorithm 2 converges weakly to a point of Fix(T)∩S when
the operator A is monotone, T is quasi-nonexpansive and I − T is demiclosed.
• We give numerical simulations to show that our proposed method is more efficient and faster than the
related methods.

Our paper is organized as follows: Several definitions and lemmas are given in Sect. 2. In Sect. 3, we
present our method and analyse the weak convergence of our method. In Sect. 4, we analyse the strong con-
vergence of our method. We give numerical experiments to illustrate the feasibility of our methods in Sect. 5.

2. Preliminaries

Definition 2.1. The operator A : H→ H is said to be

(i) L-Lipschitz continuous, if there exists a constant L > 0 such that

∥Ax − Ay∥ ≤ L∥x − y∥, ∀x, y ∈ H.

(ii) ϱ-strongly monotone, if there exists a constant ϱ > 0 such that

⟨Ay − Ax, y − x⟩ ≥ ϱ∥y − x∥2, ∀x, y ∈ H.

(iii) monotone, if
⟨Ay − Ax, y − x⟩ ≥ 0, ∀x, y ∈ H.

(iv) η-strongly pseudo-monotone, if there exists a constant η > 0 such that

⟨Ax, y − x⟩ ≥ 0⇒ ⟨Ay, y − x⟩ ≥ η∥y − x∥2, ∀x, y ∈ H.

(v) pseudo-monotone, if
⟨Ax, y − x⟩ ≥ 0⇒ ⟨Ay, y − x⟩ ≥ 0, ∀x, y ∈ H.

(vi) quasi-monotone, if
⟨Ax, y − x⟩ > 0⇒ ⟨Ay, y − x⟩ ≥ 0, ∀x, y ∈ H.

Clearly, (ii)⇒ (iii)⇒ (v)⇒ (vi) and (ii)⇒ (iv)⇒ (v)⇒ (vi), but the converses are not always true.
Minty formulation of VIP (shortly, MVIP) is defined as:

find v ∈ C such that ⟨Ay, y − v⟩ ≥ 0, ∀y ∈ C.

The solution set of MVIP is denoted by SD. When A is quasi-monotone, we have SD is a closed and convex
subset of C. Furthermore, since C is convex and A is continuous, we have SD ⊂ S.
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Lemma 2.2. ([39]) Let C be a nonempty closed and convex subset of H. If either

(i) A is pseudomonotone on C and S , ∅,
(ii) A is the gradient of G, where G is a differential quasiconvex function on an open set K ⊃ C
and attains its global minimum on C,
(iii) A is quasimonotone on C, A , 0 on C and C is bounded,
(iv) A is quasimonotone on C, A , 0 on C and there exists a positive number r such that, for every v ∈ C with ∥v∥ ≥ r,
there exists y ∈ C such that ∥y∥ ≤ r and ⟨Av, y − v⟩ ≤ 0,
(v) A is quasimonotone on C, intC is nonempty and there exists v∗ ∈ S such that Av∗ , 0.

Then, SD is nonempty.

Lemma 2.3. The following statements hold in H:

(i) ∥x + y∥2 = ∥x∥2 + 2⟨x, y⟩ + ∥y∥2, ∀ x, y ∈ H.
(ii)∥x + y∥2 ≤ ∥x∥2 + 2⟨y, x + y⟩, ∀ x, y ∈ H.
(iii)∥λx + (1 − λ)y∥2 = λ∥x∥2 + (1 − λ)∥y∥2 − λ(1 − λ)∥x − y∥2, ∀ x, y ∈ H, λ ∈ R.

Lemma 2.4. Let C be a nonempty closed and convex subset of H and PC be the matric projection from H onto C.
Then for any x, y ∈ H and z ∈ C, the following hold:

(i) ∥PCx − PCy∥2 ≤ ⟨PCx − PCy, x − y⟩.
(ii)∥PCx − z∥2 ≤ ∥x − z∥2 − ∥PCx − x∥2.

Lemma 2.5. For any x ∈ H and z ∈ C, then z = PC(x) if and only if

⟨x − z, y − z⟩ ≤ 0,∀y ∈ C.

Lemma 2.6. ([21], Lemma 2.2) Let {ϕn}, {δn} and {θn} be sequences in [0,+∞) such that

ϕn+1 ≤ ϕn + θn(ϕn − ϕn−1) + δn,∀n ≥ 1,
∞∑

n=1

δn < +∞,

and exists a real number θ with 0 ≤ θn ≤ θ < 1 for all n ∈ N. Then the following assertions hold:

(i)
∞∑

n=1
[ϕn − ϕn−1]+ < +∞ where [t]+ = max{t, 0} for any t ∈ R;

(ii) there exists ϕ∗ ∈ [0,+∞) such that lim
n→∞
ϕn = ϕ∗.

Lemma 2.7. ([25]) Let C be a nonempty subset of H and let {xn} be a sequence in H such that the following two
conditions:

(i) for each x ∈ C, the limit of sequence {∥xn − x∥} exists;
(ii) any weak cluster point of sequence {xn} is in C.

Then there exists x∗ ∈ C such that {xn} converges weakly to x∗.

Lemma 2.8. ([5]) Consider the problem VIP with C being a nonempty, closed, convex subset of a real Hilbert space
H and F : C→ H being pseudomonotone and continuous. Then, x∗ is a solution of VIP if and only if

⟨Fx, x − x∗⟩ ≥ 0,∀x ∈ C.

Lemma 2.9. ([19], Lemma 3.2) Let A : H → H be a monotone and L-Lipschitz continuous mapping. Let T =
PC(I − λA), where λ > 0. If {xn} is a sequence in H satisfying xn ⇀ q and xn − Txn → 0, then q ∈ S.
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Lemma 2.10. ([12, 17]) Suppose f : Rn
→ R is differentiable and pseudo-convex on C. Then x∗ ∈ C ⊂ Rn satisfies

⟨∇ f (x∗), x − x∗⟩ ≥ 0, ∀x ∈ C

if and only if x∗ is a minimum of f in C.

3. Weak convergence

In this section, we show that the sequence {xn} generated by Algorithm 1 converges weakly to a point
in SD ⊂ S under the following conditions:
(C1) The feasible set C is a nonempty, closed and convex subset of H;
(C2) The operator A : H→ H is quasi-monotone;
(C3) The operator A : H→ H is L-Lipschitz continuous and satisfies the following condition:

if {xn} ⊂ H, xn ⇀ v∗ and lim inf
n→∞

∥Axn∥ = 0, then Av∗ = 0;

(C4) SD , ∅;
(C5) 0 ≤ θn ≤ θn+1 ≤ 1;
(C6) 0 ≤ δn ≤ δn+1 ≤ δ < min{ ϵ−

√
2ϵ
ϵ , θ1}, ϵ ∈ (2,+∞);

(C7) 0 < α ≤ αn ≤ αn+1 < 1
1+ϵ , ϵ ∈ (2,+∞).

Algorithm 1

Iterative step:

1. Take the parameters µ ∈ (0, 1) and λ1 > 0. Choose a nonnegative real sequence {an} such that
∞∑

n=1
an < +∞.

Let x0, x1 ∈ H be given starting points. Set n:=1.
2. Compute

zn = xn + δn(xn − xn−1)
wn = xn + θn(xn − xn−1)
yn = PC(wn − λnAwn)
un = PTn (wn − λnAyn),

(6)

where

λn+1 =

 min
{µ(∥wn − yn∥

2 + ∥un − yn∥
2)

2⟨Awn − Ayn,un − yn⟩
, λn + an

}
, i f ⟨Awn − Ayn,un − yn⟩ > 0,

λn + an, otherwise,
(7)

and
Tn := {w ∈ H : ⟨wn − λnAwn − yn,w − yn⟩ ≤ 0}.

If wn = yn = xn, STOP. Otherwise
3. Compute

xn+1 = (1 − αn)zn + αnun,n ≥ 1. (8)

4. Set n← n + 1, and go to 2.

Remark 3.1. Observe that if xn = wn = yn, then (6) implies xn = PC(xn−λnAxn), from Lemma 2.5 we know xn ∈ S.
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Remark 3.2. It is obvious that ⟨Awn − Ayn,un − yn⟩ ≤
µ

2λn+1

(
∥wn − yn∥

2 + ∥un − yn∥
2
)
.

Lemma 3.3. ([20], Lemma 3.3) Suppose that Condition (C3) holds, then the sequence {λn} generated by (7)

is well defined and lim
n→∞
λn = λ and λ ∈ [min{µL , λ1}, λ1 +

∞∑
n=1

an].

Lemma 3.4. Suppose that {xn} is generated by Algorithm 1 and Condition (C1)-(C7) hold. Then {xn} is bounded and
lim
n→∞
∥xn − x∗∥ exists, where x∗ ∈ SD.

Proof. Pick a point x∗ ∈ SD, we have ⟨Ayn, yn − x∗⟩ ≥ 0, then ⟨Ayn, yn − x∗ + un − un⟩ ≥ 0 and thus

⟨Ayn, x∗ − un⟩ ≤ ⟨Ayn, yn − un⟩, (9)

by un ∈ Tn, we get ⟨wn − λnAwn − yn,un − yn⟩ ≤ 0. Therefore

⟨wn − λnAyn − yn,un − yn⟩ = ⟨wn − λnAwn − yn,un − yn⟩ + λn⟨Awn − Ayn,un − yn⟩

≤ λn⟨Awn − Ayn,un − yn⟩. (10)

From yn = PC(wn − λnAwn) and Lemma 2.5, we have

⟨wn − λnAwn − yn, y − yn⟩ ≤ 0, ∀y ∈ C. (11)

By (11) and the definition of Tn, we know y ∈ Tn, therefore x∗ ∈ C ⊂ Tn.
Using Lemma 2.4 and (9), we have

∥un − x∗∥2 ≤ ∥wn − λnAyn − x∗∥2 − ∥wn − λnAyn − un∥
2

= ∥wn − x∗∥2 − ∥wn − un∥
2 + 2λn⟨Ayn, x∗ − un⟩

≤ ∥wn − x∗∥2 − ∥wn − un∥
2 + 2λn⟨Ayn, yn − un⟩

= ∥wn − x∗∥2 − ∥wn − un + yn − yn∥
2 + 2λn⟨Ayn, yn − un⟩

= ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2 + 2⟨wn − λnAyn − yn,un − yn⟩. (12)

Using (10) and (12), we obtain

∥un − x∗∥2 ≤ ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2 + 2λn⟨Awn − Ayn,un − yn⟩

≤ ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2 +
λnµ

λn+1

(
∥wn − yn∥

2 + ∥un − yn∥
2
)

= ∥wn − x∗∥2 −
(
1 −
λnµ

λn+1

)
∥wn − yn∥

2
−

(
1 −
λnµ

λn+1

)
∥un − yn∥

2. (13)

Since lim
n→∞

(
1 − λnµ

λn+1

)
= 1 − µ > 0, there exists a natural number N ≥ 1 such that

∥un − x∗∥2 ≤ ∥wn − x∗∥2, ∀n ≥ N. (14)

From Algorithm 1 and (14) we have

∥xn+1 − x∗∥2 = ∥(1 − αn)(zn − x∗) + αn(un − x∗)∥2

= (1 − αn)∥zn − x∗∥2 + αn∥un − x∗∥2 − αn(1 − αn)∥zn − un∥
2

≤ (1 − αn)∥zn − x∗∥2 + αn∥wn − x∗∥2 − αn(1 − αn)∥zn − un∥
2, ∀n ≥ N. (15)

From xn+1 = (1 − αn)zn + αnun, we have

∥un − zn∥ =
1
αn
∥xn+1 − zn∥, ∀n ≥ 1. (16)
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Combining (15) and (16) we get

∥xn+1 − x∗∥2 ≤ (1 − αn)∥zn − x∗∥2 + αn∥wn − x∗∥2 −
1 − αn

αn
∥xn+1 − zn∥

2, ∀n ≥ N. (17)

From Lemma 2.3, we have

∥wn − x∗∥2 = ∥xn + θn(xn − xn−1) − x∗∥2

= ∥(1 + θn)(xn − x∗) − θn(xn−1 − x∗)∥2

= (1 + θn)∥xn − x∗∥2 − θn∥xn−1 − x∗∥2 + θn(1 + θn)∥xn − xn−1∥
2, ∀n ≥ 1. (18)

∥zn − x∗∥2 = ∥xn + δn(xn − xn−1) − x∗∥2

= (1 + δn)∥xn − x∗∥2 − δn∥xn−1 − x∗∥2 + δn(1 + δn)∥xn − xn−1∥
2, ∀n ≥ 1. (19)

Also,

∥xn+1 − zn∥
2 = ∥xn+1 − (xn + δn(xn − xn−1))∥2

= ∥(xn+1 − xn) − δn(xn − xn−1)∥2

= ∥xn+1 − xn∥
2 + δ2

n∥xn − xn−1∥
2
− 2δn⟨xn+1 − xn, xn − xn−1⟩

≥ ∥xn+1 − xn∥
2 + δ2

n∥xn − xn−1∥
2
− 2δn∥xn+1 − xn∥ · ∥xn − xn−1∥

≥ ∥xn+1 − xn∥
2 + δ2

n∥xn − xn−1∥
2
− δn

(
∥xn+1 − xn∥

2 + ∥xn − xn−1∥
2
)

= (1 − δn)∥xn+1 − xn∥
2 + (δ2

n − δn)∥xn − xn−1∥
2. (20)

Substituting (18), (19) and (20) into (17), we have

∥xn+1 − x∗∥2 ≤ (1 − αn)
[
(1 + δn)∥xn − x∗∥2 − δn∥xn−1 − x∗∥2 + δn(1 + δn)∥xn − xn−1∥

2
]

+ αn

[
(1 + θn)∥xn − x∗∥2 − θn∥xn−1 − x∗∥2 + θn(1 + θn)∥xn − xn−1∥

2
]

−
1 − αn

αn

[
(1 − δn)∥xn+1 − xn∥

2 + (δ2
n − δn)∥xn − xn−1∥

2
]

=
(
(1 − αn)(1 + δn) + αn(1 + θn)

)
∥xn − x∗∥2 −

(
δn(1 − αn) + αnθn

)
∥xn−1 − x∗∥2

+
(
(1 − αn)δn(1 + δn) + αnθn(1 + θn) −

(1 − αn)(δ2
n − δn)

αn

)
∥xn − xn−1∥

2

−
(1 − αn)(1 − δn)

αn
∥xn+1 − xn∥

2

=
(
1 + αnθn + δn(1 − αn)

)
∥xn − x∗∥2 −

(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2

+ σn∥xn − xn−1∥
2
− ρn∥xn+1 − xn∥

2, ∀n ≥ N, (21)

where

σn := (1 − αn)δn(1 + δn) + αnθn(1 + θn) −
(1 − αn)(δ2

n − δn)
αn

, ρn :=
(1 − αn)(1 − δn)

αn
.

Define Γn := ∥xn − x∗∥2 −
(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2 + σn∥xn − xn−1∥

2, ∀n ≥ 1.
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By the definition of Γn and (21) we have

Γn+1 − Γn = ∥xn+1 − x∗∥2 −
(
αn+1θn+1 + δn+1(1 − αn+1)

)
∥xn − x∗∥2 + σn+1∥xn+1 − xn∥

2

− ∥xn − x∗∥2 +
(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2 − σn∥xn − xn−1∥

2

≤

(
αnθn + δn(1 − αn) − αn+1θn+1 − δn+1(1 − αn+1)

)
∥xn − x∗∥2

+ σn+1∥xn+1 − xn∥
2
− ρn∥xn+1 − xn∥

2

=
(
αn(θn − δn) − αn+1(θn+1 − δn+1) + (δn − δn+1)

)
∥xn − x∗∥2

+ σn+1∥xn+1 − xn∥
2
− ρn∥xn+1 − xn∥

2, ∀n ≥ N. (22)

By 0 ≤ δn ≤ δn+1 < θ1 ≤ θn ≤ θn+1 and 0 < αn ≤ αn+1 < 1, we have −αn+1(θn+1 − δn+1) ≤ −αn(θn+1 − δn+1) and
−(δn+1 − δn) ≤ −αn(δn+1 − δn).
Thus,

αn(θn − δn) − αn+1(θn+1 − δn+1) + (δn − δn+1)
≤ αn(θn − δn) − αn(θn+1 − δn+1) − αn(δn+1 − δn)
= αn(θn − θn+1)
≤ 0.

Then from (22) we have

Γn+1 − Γn ≤ −(ρn − σn+1)∥xn+1 − xn∥
2, ∀n ≥ N. (23)

By αn < 1
1+ϵ , we can get 1−αn

αn
≥ ϵ, thus

ρn − σn+1 =
(1 − αn)(1 − δn)

αn
− (1 − αn+1)δn+1(1 + δn+1) − αn+1θn+1(1 + θn+1)

+
(1 − αn+1)(δ2

n+1 − δn+1)

αn+1

≥
(1 − αn+1)(1 − δn)

αn+1
+

(1 − αn+1)(δ2
n+1 − δn+1)

αn+1

− (1 − αn+1)δn+1(1 + δn+1) − αn+1θn+1(1 + θn+1)

≥
(1 − αn+1)(δ2

n+1 − δn+1 − δn + 1)

αn+1
− 2(1 − αn+1) − 2αn+1

≥
(1 − αn+1)(δ2

n+1 − 2δn+1 + 1)

αn+1
− 2(1 − αn+1) − 2αn+1

≥ ϵ(δ2
n+1 − 2δn+1 + 1) − 2

= ϵδ2
n+1 − 2ϵδn+1 + ϵ − 2. (24)

Since y = ϵx2
− 2ϵx + ϵ − 2 has two roots: x1 =

ϵ−
√

2ϵ
ϵ , x2 =

ϵ+
√

2ϵ
ϵ and δn+1 ≤ δ <

ϵ−
√

2ϵ
ϵ , we have

ϵδ2
n+1 − 2ϵδn+1 + ϵ − 2 ≥ ϵδ2

− 2ϵδ + ϵ − 2 > 0. Therefore from (23) and (24) we have

Γn+1 − Γn ≤ −β∥xn+1 − xn∥
2,∀n ≥ N. (25)

where β := ϵδ2
− 2ϵδ + ϵ − 2 > 0. Hence, {Γn} is non-increasing (n ≥ N).
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Furthermore, by Assumption (f) and (g) we know δn ≤ δ < 1, αn < 1, thus

σn = (1 − αn)δn(1 + δn) + αnθn(1 + θn) −
(1 − αn)(δ2

n − δn)
αn

= (1 − αn)δn(1 + δn −
δn − 1
αn

) + αnθn(1 + θn)

> 0.

Therefore,

Γn = ∥xn − x∗∥2 −
(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2 + σn∥xn − xn−1∥

2

≥ ∥xn − x∗∥2 −
(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2, ∀n ≥ 1.

So,

∥xn − x∗∥2 ≤
(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2 + Γn

≤

(
αn + δn(1 − αn)

)
∥xn−1 − x∗∥2 + Γn

≤

( 1
1 + ϵ

+ δ(1 − α)
)
∥xn−1 − x∗∥2 + Γn

≤

( 1
1 + ϵ

+ δ(1 − α)
)
∥xn−1 − x∗∥2 + ΓN

= γ∥xn−1 − x∗∥2 + ΓN

≤ γ2
∥xn−2 − x∗∥2 + γΓN + ΓN

...

≤ γn−N
∥xN − x∗∥2 + (1 + γ + · · · + γn−N−1)ΓN

≤ γn−N
∥xN − x∗∥2 +

ΓN

1 − γ
, (26)

where γ := 1
1+ϵ + δ(1 − α).

Now we prove γ ∈ (0, 1). By ϵ−
√

2ϵ
ϵ −

ϵ
1+ϵ =

(1+ϵ)(ϵ−
√

2ϵ)−ϵ2

ϵ(1+ϵ) =
ϵ−(1+ϵ)

√
2ϵ

ϵ(1+ϵ) < 0, we have δ ≤ ϵ−
√

2ϵ
ϵ < ϵ

1+ϵ , so
γ := 1

1+ϵ + δ(1 − α) < 1
1+ϵ +

ϵ
1+ϵ = 1, so γ ∈ (0, 1).

Hence, {∥xn − x∗∥} is bounded and so is {xn}.
By the definition of Γn+1 and (26), we have

−Γn+1 ≤
(
αn+1θn+1 + δn+1(1 − αn+1)

)
∥xn − x∗∥2

≤

( 1
1 + ϵ

+ δ(1 − α)
)
∥xn − x∗∥2

= γ∥xn − x∗∥2

≤ γn−N+1
∥xN − x∗∥2 +

γΓN

1 − γ
. (27)

By (25) and (27), we get

β
n∑

k=N

∥xk+1 − xk∥
2
≤ ΓN − Γn+1 ≤ γ

n−N+1
∥xN − x∗∥2 +

ΓN

1 − γ
.
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Therefore,

∞∑
n=N

∥xn+1 − xn∥
2
≤

ΓN

β(1 − γ)
< ∞. (28)

Thus,

lim
n→∞
∥xn+1 − xn∥ = 0. (29)

From (21) we get

∥xn+1 − x∗∥2 ≤
(
1 + αnθn + δn(1 − αn)

)
∥xn − x∗∥2 −

(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2

+ σn∥xn − xn−1∥
2
− ρn∥xn+1 − xn∥

2

≤ ∥xn − x∗∥2 +
(
αnθn + δn(1 − αn)

)(
∥xn − x∗∥2 − ∥xn−1 − x∗∥2

)
+ σn∥xn − xn−1∥

2, ∀n ≥ N. (30)

σn = (1 − αn)δn(1 + δn) + αnθn(1 + θn) −
(1 − αn)(δ2

n − δn)
αn

≤ (1 − α)δ(1 + δ) +
2

1 + ϵ
+

1 − α
α

(δn − δ
2
n)

≤ (1 − α)δ(1 + δ) +
2

1 + ϵ
+

1 − α
4α
.

So,

∥xn+1 − x∗∥2 ≤ ∥xn − x∗∥2 +
(
αnθn + δn(1 − αn)

)(
∥xn − x∗∥2 − ∥xn−1 − x∗∥2

)
+

(
(1 − α)δ(1 + δ) +

2
1 + ϵ

+
1 − α

4α

)
∥xn − xn−1∥

2, ∀n ≥ N. (31)

Note also that αnθn + δn(1 − αn) < 1
1+ϵ + δ(1 − α) = γ < 1.

By (28) we get
∞∑

n=N
[(1 − α)δ(1 + δ) + 2

1+ϵ +
1−α
4α ]∥xn − xn−1∥

2 < +∞.

Invoking Lemma 2.6 in (31), we get lim
n→∞
∥xn − x∗∥ exists.

Lemma 3.5. Let {xn} be generated by Algorithm 1 such that Condition (C1)-(C7) hold. If v∗ is one of the weak cluster
points of {xn}, then we have at least one of the following : v∗ ∈ SD or Av∗ = 0.

Proof. By Lemma 3.4, {xn} is bounded. Hence we can let v∗ be a weak cluster point of {xn}. Then we can
choose a subsequence of {xn}, denoted by {xnk } such that xnk ⇀ v∗ ∈ H.
We consider the following two possible cases.
Case I: Suppose that lim sup

k→∞
∥Axnk∥ = 0. Then lim

k→∞
∥Axnk∥ = lim inf

k→∞
∥Axnk∥ = 0. Thus we obtain from

Condition (C3) that Av∗ = 0.
Case II: Suppose that lim sup

k→∞
∥Axnk∥ > 0. Then without loss of generality, we can choose a subsequence of

{Axnk } still denoted by {Axnk } such that lim
k→∞
∥Axnk∥ =M1 > 0.

We first prove that lim
n→∞
∥xn − yn∥ = lim

n→∞
∥un − wn∥ = lim

n→∞
∥yn − un∥ = 0.
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From (29) we know that lim
n→∞
∥xn+1 − xn∥ = 0, then

∥xn+1 − zn∥ ≤ ∥xn+1 − xn∥ + ∥xn − zn∥ = ∥xn+1 − xn∥ + δn∥xn − xn−1∥ → 0,n→∞.
∥xn+1 − wn∥ ≤ ∥xn+1 − xn∥ + ∥xn − wn∥ = ∥xn+1 − xn∥ + θn∥xn − xn−1∥ → 0,n→∞.
∥wn − zn∥ = ∥wn − xn+1∥ + ∥xn+1 − zn∥ → 0,n→∞.

∥un − zn∥ =
1
αn
∥xn+1 − zn∥ ≤

1
α
∥xn+1 − zn∥ → 0,n→∞.

∥wn − un∥ ≤ ∥wn − zn∥ + ∥un − zn∥ → 0,n→∞.

By {xn} is bounded and ∥xn+1 − wn∥ → 0, ∥wn − un∥ → 0,n → ∞, we can get {∥wn − x∗∥} and {∥un − x∗∥} are
bounded.
From (13), we have(

1 −
λnµ

λn+1

) (
∥wn − yn∥

2 + ∥yn − un∥
2
)

≤ ∥wn − x∗∥2 − ∥un − x∗∥2

=
(
∥wn − x∗∥ + ∥un − x∗∥

)(
∥wn − x∗∥ − ∥un − x∗∥

)
≤M∥wn − un∥ → 0, n→∞,

for some M > 0, where the existence of M is from the boundedness of
{
∥wn − x∗∥ + ∥un − x∗∥

}
. Noting

lim
n→∞
λn = λ, we see that ∥wn − yn∥ → 0, ∥un − yn∥ → 0,n→∞.

By ∥xn+1 − wn∥ → 0, ∥wn − yn∥ → 0, and ∥xn+1 − xn∥ → 0, we have ∥xn − yn∥ → 0,n→∞.
From un = PTn (wn − λnAyn) and C ⊂ Tn, we get

⟨wn − λnAyn − un, y − un⟩ ≤ 0, ∀y ∈ C.

So,

0 ≤ ⟨unk − wnk + λnk Aynk , y − unk⟩

= ⟨unk − wnk , y − unk⟩ + λnk⟨Aynk , y − unk⟩

= ⟨unk − wnk , y − unk⟩ + λnk⟨Aynk , y − ynk⟩ + λnk⟨Aynk , ynk − unk⟩, ∀y ∈ C. (32)

From lim
n→∞
∥wn − un∥ = lim

n→∞
∥un − yn∥ = 0, we obtain

0 ≤ lim inf
k→∞

⟨Aynk , y − ynk⟩ ≤ lim sup
k→∞

⟨Aynk , y − ynk⟩ < ∞, ∀y ∈ C. (33)

Based on (33), we consider the following two cases under case II:
Case 1: Suppose that lim sup

k→∞
⟨Aynk , y− ynk⟩ > 0,∀y ∈ C. Then we can choose a subsequence of {ynk } denoted

by {ynkj
} such that lim

j→∞
⟨Aynkj

, y − ynkj
⟩ > 0. Thus, there exists j0 ≥ 1 such that ⟨Aynkj

, y − ynkj
⟩ > 0,∀ j ≥ j0,

by the quasimonotonicity of A on H, it implies that ⟨Ay, y − ynkj
⟩ ≥ 0,∀y ∈ C, j ≥ j0. By xnk ⇀ v∗ and

∥xn − yn∥ → 0,n→∞, we have ynk ⇀ v∗ ∈ C. As j→∞ , we get ⟨Ay, y − v∗⟩ ≥ 0,∀y ∈ C. Therefore, v∗ ∈ SD.
Case 2: Suppose that lim sup

k→∞
⟨Aynk , y − ynk⟩ = 0,∀y ∈ C. Then by (33), we get

lim
k→∞
⟨Aynk , y − ynk⟩ = 0, ∀y ∈ C, (34)

from which we get

⟨Aynk , y − ynk⟩ + |⟨Aynk , y − ynk⟩| +
1

k + 1
> 0, ∀y ∈ C. (35)
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Since lim
k→∞
∥Axnk∥ = lim

k→∞
∥Aynk∥ =M1 > 0, we can find k0 ≥ 1 such that ∥Aynk∥ ≥

M1
2 ,∀k ≥ k0.

We set bnk =
Aynk
∥Aynk ∥

2 , then ⟨Aynk , bnk⟩ = 1. Therefore, by (35), we get

〈
Aynk , y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk

〉
> 0, ∀y ∈ C. (36)

Using the quasi-monotonicity of A on H, we obtain〈
A
(
y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

])
, y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk

〉
≥ 0, ∀y ∈ C.

This implies that〈
Ay, y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk

〉
≥

〈
Ay − A(y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
), y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk

〉
≥ −∥Ay − A(y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
)∥ · ∥y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk∥

≥ −L∥bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
∥ · ∥y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk∥

=
−L
∥Aynk∥

(
|⟨Aynk , y − ynk⟩| +

1
k + 1

)
· ∥y + bnk

[
|⟨Aynk , y − ynk⟩| +

1
k + 1

]
− ynk∥

≥
−2L
M1

(
|⟨Aynk , y − ynk⟩| +

1
k + 1

)
M2, ∀y ∈ C, k ≥ k0, (37)

for some M2 > 0, where the existence of M2 is from the boundedness of
{
y+ bnk

[
|⟨Aynk , y− ynk⟩|+

1
k+1

]
− ynk

}
.

From (34) we have lim
k→∞

(
|⟨Aynk , y − ynk⟩| +

1
k+1

)
= 0,∀y ∈ C. Thus, as k → ∞ in (37), we get ⟨Ay, y − v∗⟩ ≥

0,∀y ∈ C. Therefore, v∗ ∈ SD.

Theorem 3.6. Let {xn} be generated by Algorithm 1 such that Condition (C1)-(C7) hold and Ax , 0,∀x ∈ C
(otherwise, x ∈ S). Then {xn} converges weakly to an element of SD.

Proof. by Lemma 3.4, {xn} is bounded, hence, let z be a weak cluster point of {xn}. Then there exists a
subsequence {xnk } ⊂ {xn}, such that xnk ⇀ z, k→∞, also from ∥xn − yn∥ → 0,n→∞, we get ynk ⇀ z, k→∞.
Since C is closed, we have that z ∈ C. Since Ax , 0,∀x ∈ C, we get Az , 0. By Lemma 3.5, we get z ∈ SD.
Therefore,
(1) by Lemma 3.5, lim

n→∞
∥xn − z∥ exists for any z ∈ SD,

(2) every sequential weak cluster point of {xn} is in SD.
Using Lemma 2.7, we get {xn} converges weakly to a point in SD.

Remark 3.7. Obviously, all the results in this section can still be derived from the operator A is monotone (or
pseudo-monotone) rather than quasi-monotone.

4. Strong convergence

Theorem 4.1. Assume that A is η-strongly pseudo-monotone and Condition (C1), (C3)-(C7) hold. Let {xn} be
generated by Algorithm 1 , then {xn} converges strongly to an element of S.
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Proof. The strong pseudo-monotonicity of A implies that VIP has a unique solution, which is denoted by
x∗, hence ⟨Ax∗, yn − x∗⟩ ≥ 0. By the strong pseudo-monotonicity of A, we have ⟨Ayn, yn − x∗⟩ ≥ η∥yn − x∗∥2.
Thus,

⟨Ayn, yn − un + un − x∗⟩ ≥ η∥yn − x∗∥2,

so

⟨Ayn, x∗ − un⟩ ≤ ⟨Ayn, yn − un⟩ − η∥yn − x∗∥2. (38)

Using Lemma 2.4 and (38), we have

∥un − x∗∥2 ≤ ∥wn − λnAyn − x∗∥2 − ∥wn − λnAyn − un∥
2

= ∥wn − x∗∥2 − ∥wn − un∥
2 + 2λn⟨Ayn, x∗ − un⟩

≤ ∥wn − x∗∥2 − ∥wn − un∥
2 + 2λn⟨Ayn, yn − un⟩ − 2λnη∥yn − x∗∥2

= ∥wn − x∗∥2 − ∥wn + yn − yn − un∥
2 + 2λn⟨Ayn, yn − un⟩

− 2λnη∥yn − x∗∥2

= ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2
− 2λnη∥yn − x∗∥2

+ 2⟨wn − λnAyn − yn,un − yn⟩. (39)

Applying (10) and Remark 3.2 in (39), we obtain

∥un − x∗∥2 ≤ ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2
− 2λnη∥yn − x∗∥2

+ 2λn⟨Awn − Ayn,un − yn⟩

≤ ∥wn − x∗∥2 − ∥wn − yn∥
2
− ∥yn − un∥

2
− 2λnη∥yn − x∗∥2

+
λnµ

λn+1

(
∥wn − yn∥

2 + ∥un − yn∥
2
)

= ∥wn − x∗∥2 − 2λnη∥yn − x∗∥2 −
(
1 −
λnµ

λn+1

) (
∥wn − yn∥

2 + ∥un − yn∥
2
)
.

From Lemma 3.3, we know that there exists a natural number N1 satisfying λn ≥
λ
2 and 1− λnµ

λn+1
= 1− µ > 0,

for all n ≥ N1, thus,

∥un − x∗∥2 ≤ ∥wn − x∗∥2 − λη∥yn − x∗∥2, ∀n ≥ N1. (40)

Therefore,

∥xn+1 − x∗∥2 = ∥(1 − αn)(zn − x∗) + αn(un − x∗)∥2

= (1 − αn)∥zn − x∗∥2 + αn∥un − x∗∥2 − αn(1 − αn)∥zn − un∥
2

≤ (1 − αn)∥zn − x∗∥2 + αn∥wn − x∗∥2 − αnλη∥yn − x∗∥2

− αn(1 − αn)∥zn − un∥
2

≤ (1 − αn)∥zn − x∗∥2 + αn∥wn − x∗∥2 − αn(1 − αn)∥zn − un∥
2

− αλη∥yn − x∗∥2, ∀n ≥ N1.

Repeating similar arguments from (16) to (21), we get

∥xn+1 − x∗∥2 ≤
(
1 + αnθn + δn(1 − αn)

)
∥xn − x∗∥2 −

(
αnθn + δn(1 − αn)

)
∥xn−1 − x∗∥2

+ σn∥xn − xn−1∥
2
− ρn∥xn+1 − xn∥

2
− αλη∥yn − x∗∥2, ∀n ≥ N1.



H. Li, X. Wang / Filomat 37:29 (2023), 9823–9844 9836

Thus,

αλη∥yn − x∗∥2 ≤ ∥xn − x∗∥2 − ∥xn+1 − x∗∥2 + σn∥xn − xn−1∥
2

+
(
αnθn + δn(1 − αn)

)(
∥xn − x∗∥2 − ∥xn−1 − x∗∥2

)
≤ ∥xn − x∗∥2 − ∥xn+1 − x∗∥2 +M∗∥xn − xn−1∥

2

+
(
αnθn + δn(1 − αn)

)(
∥xn − x∗∥2 − ∥xn−1 − x∗∥2

)
, ∀n ≥ N1,

where

M∗ = (1 − α)δ(1 + δ) +
2

1 + ϵ
+

(1 − α)
4α

≥ σn.

Hence,

αλη
n∑

k=N1

∥yk − x∗∥2 ≤ ∥xN1 − x∗∥2 − ∥xn+1 − x∗∥2 +M∗
n∑

k=N1

∥xk − xk−1∥
2

+
(
αnθn + δn(1 − αn)

)
∥xn − x∗∥2

−

(
αN1−1θN1−1 + δN1−1(1 − αN1−1)

)
∥xN1−1 − x∗∥2.

By Lemma 3.4 and (28), we have {xn} is bounded and
∞∑

k=N1

∥xk − xk−1∥
2 < ∞, from which we deduce that

∞∑
k=N1

∥yk − x∗∥2 < ∞. Thus, lim
n→∞
∥yn − x∗∥ = 0.

Consequently,

lim
n→∞
∥xn − x∗∥

≤ lim
n→∞

(
∥xn − wn∥ + ∥wn − yn∥ + ∥yn − x∗∥

)
= 0.

This completes the proof.

Next, we put an operator T in Algorithm 1, which leads to the sequence {xn} converges weakly to a point
of Fix(T) ∩ S, where Fix(T) := {x ∈ H : Tx = x} is the nonempty fixed point set of T.
We add the following conditions:
(C8) The operator A : H→ H is monotone;
(C9) T is quasi-nonexpansive, that is

Fix(T) , ∅ and ∥Tx − p∥ ≤ ∥x − p∥ , ∀x ∈ H, p ∈ Fix(T);

(C10) I − T is demiclosed, that is

xn ⇀ x and (I − T)xn → 0⇒ x ∈ Fix(T);

(C11) Fix(T) ∩ S , ∅.

Algorithm 2

Iterative step:

1. Take the parameters µ ∈ (0, 1) and λ1 > 0. Choose a nonnegative real sequence {an} such that
∞∑

n=1
an < +∞.
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Let x0, x1 ∈ H be given starting points. Set n:=1.
2. Compute

zn = xn + δn(xn − xn−1)
wn = xn + θn(xn − xn−1)
yn = PC(wn − λnAwn)
un = PTn (wn − λnAyn),

(41)

where

λn+1 =

 min{
µ(∥wn − yn∥

2 + ∥un − yn∥
2)

2⟨Awn − Ayn,un − yn⟩
, λn + an}, i f ⟨Awn − Ayn,un − yn⟩ > 0,

λn + an, otherwise,

and
Tn := {w ∈ H : ⟨wn − λnAwn − yn,w − yn⟩ ≤ 0}.

If wn = yn = xn = xn+1 = zn, STOP. Otherwise
3. Compute

xn+1 = (1 − αn)zn + αnTun,n ≥ 1. (42)

4. Set n← n + 1, and go to 2.

Remark 4.2. Using (41) and xn = yn = wn, we can deduce that xn = PC(xn − λnAxn), which implies that
⟨Axn, y − xn⟩ ≥ 0, ∀y ∈ C, thus, xn ∈ S. On the other hand, from C ⊂ Tn and wn = yn, we get yn =
PTn (wn − λnAyn) = un, which together with xn = yn = xn+1 and (42) implies that xn = (1 − αn)xn + αnTxn, then,
Txn = xn, xn ∈ Fix(T). Therefore, when wn = yn = xn = xn+1 = zn, xn ∈ Fix(T) ∩ S, this algorithm could stop.

Theorem 4.3. Let {xn} be generated by Algorithm 2 such that Condition (C1) and (C4)-(C11) hold. Then {xn}

converges weakly to a point of Fix(T) ∩ S.

Proof. Pick a point of x∗ ∈ Fix(T) ∩ S. From T is quasi-nonexpansive and (9)-(13), we obtain

∥Tun − x∗∥2 ≤ ∥un − x∗∥2

≤ ∥wn − x∗∥2 −
(
1 −
λnµ

λn+1

)
∥wn − yn∥

2
−

(
1 −
λnµ

λn+1

)
∥un − yn∥

2. (43)

Repeating the similar arguments from (14)-(31) and use Tun in place of un, we can deduce that ∥xn+1−xn∥ →

0, n → ∞, {xn} is bounded and lim
n→∞
∥xn − x∗∥ exists. By ∥xn+1 − xn∥ → 0 as n → ∞ and the definition of zn,

wn, we have ∥xn − zn∥ → 0 and ∥xn − wn∥ → 0 as n→∞.
Hence,

∥Tun − zn∥ =
1
αn
∥xn+1 − zn∥

≤
1
αn

(
∥xn+1 − xn∥ + ∥xn − zn∥

)
→ 0.

Combining with {xn} is bounded, we get {wn} and {Tun} are bounded.
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Using (43), we get(
1 −
λnµ

λn+1

) (
∥wn − yn∥

2 + ∥un − yn∥
2
)

≤ ∥wn − x∗∥2 − ∥Tun − x∗∥2

=
(
∥wn − x∗∥ + ∥Tun − x∗∥

)(
∥wn − x∗∥ − ∥Tun − x∗∥

)
≤M3

(
∥wn − x∗∥ − ∥Tun − x∗∥

)
≤M3∥wn − Tun∥

≤M3

(
∥wn − zn∥ + ∥zn − Tun∥

)
≤M3

(
∥wn − xn∥ + ∥xn − zn∥ + ∥zn − Tun∥

)
→ 0,

for some M3 > 0, where the existence of M3 is from the boundedness of {wn} and {Tun}. Thus, we get
∥wn − yn∥ → 0, ∥un − yn∥ → 0 as n→∞.
Therefore, from

∥Tun − un∥ ≤ ∥Tun − zn∥ + ∥zn − wn∥ + ∥wn − yn∥ + ∥yn − un∥,

we have ∥Tun − un∥ → 0 as n→∞.
By {xn} is bounded, we know that there exists a subsequence {xnk } of {xn} such that xnk ⇀ p ∈ H. From
lim
n→∞
∥xn − wn∥ = lim

n→∞
∥wn − yn∥ = lim

n→∞
∥un − yn∥ = 0, we also get unk ⇀ p, which together with the demi-

closedness of I − T implies that p ∈ Fix(T). Moreover, we deduce wnk ⇀ p from lim
n→∞
∥xn − wn∥ = 0 and

∥wnk − PC(wnk − λnAwnk )∥ = ∥wnk − ynk∥ → 0,n → ∞, combining Lemma 2.9, we obtain p ∈ S. Thus,
p ∈ Fix(T) ∩ S. Consequently, using Lemma 2.7 we get {xn} converges weakly to a point of Fix(T) ∩ S.

5. Numerical experiments

In this section, we provide some numerical experiments to compare our Algorithm 1 with some existing
related algorithms. All the codes were written in MATLAB R2022b and performed on a PC Desktop Intel(R)
Core(TM) i5-12500H @ 2.50 GHz, RAM 16.0 GB.

In all these examples, we present numerical comparisons of our proposed Algorithm 1 with Algorithm
1 of Shehu et al. in [26] and Algorithm 1 of Yao et al. in [37].

Example 5.1. ([13]) Consider the following fractional programming problem:

min f (x) =
xTQx + aTx + a0

bTx + b0

subject to x ∈ X := {x ∈ R4 : bTx + b0 > 0}, where

Q =


5 −1 2 0
−1 5 −1 3
2 −1 3 0
0 3 0 5

 (44)

a = (1,−2,−2, 1)T, b = (2, 1, 1, 0)T, a0 = −2, b0 = 4. It is easy to verify that Q is symmetric and positive definite in
R4 and consequently f is pseudo-convex and on X = {x ∈ R4 : bTx + b0 > 0}, Lemma 2.10 reveals the relationship
between pseudo-convex optimization and VIP. We minimize f over a nonempty, closed and convex subset C := {x ∈
R4 : 1 ≤ xi ≤ 10, i = 1, ..., 4} ⊂ X by using A(x) := ∇ f (x) = ((bTx+ b0)(2Qx+ a)− b(xTQx+ aTx+ a0))/(bTx+ b0)2.
This problem has a unique solution x∗ = (1, 1, 1, 1)T

∈ C. It is known ([15]) that a differentiable function f is
pseudo-convex if and only if its gradient is pseudo-monotone, thus A is pseudo-monotone, then A is quasi-monotone.
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Furthermore, for all x, y ∈ C, ∇2 f (the Hessian matrix of f ), we have

∇
2 f (x) =

2Q
bTx + b0

−
(2Qx + a)bT

bTx + b0
−

b(2Qx + a)T

(bTx + b0)2

+
2(xTQx + aTx + a0)bbT

(bTx + b0)3 ,

∥∇
2 f (x)∥ =

2∥Q∥
bTx + b0

+
∥2Qx + a∥ ∥b∥

bTx + b0
+
∥2Qx + a∥ ∥b∥

(bTx + b0)2

+
2(xTQx + aTx + a0)∥bbT

∥

(bTx + b0)3

≤ L1.

By bTx + b0 ≤ bTx∗ + b0 = 8, ∥2Qx + a∥ and (xTQx + aTx + a0) are bounded on C, we know L1 exists, thus, ∇2 f is
bounded. Then for all x, y ∈ C, we have

∥Ay − Ax∥ = ∥∇ f (y) − ∇ f (x)∥

= ∥

∫ 1

0
∇

2 f (x + t(y − x))(y − x)dt∥

≤ ∥

∫ 1

0
∇

2 f (x + t(y − x))dt∥ ∥y − x∥

≤

∫ 1

0
∥∇

2 f (x + t(y − x))∥dt ∥y − x∥

≤ L1∥y − x∥. (45)

Thus, A is L1-Lipschitz continuous.
It is known that strong convergence and weak convergence are equivalent in Rn, thus, in order to prove that A

satisfies the condition (C3), we only need prove

if {xn} ⊂ H, xn → v∗ and lim inf
n→∞

∥Axn∥ = 0, then Av∗ = 0.

From L1-Lipschitz continuity of A and xn → v∗, we have

∥Axn − Av∗∥ ≤ L1∥xn − v∗∥ → 0, n→∞,

then, by ∥Av∗∥ = ∥Av∗ − Axn + Axn∥ ≤ ∥Av∗ − Axn∥ + ∥Axn∥, we have

0 ≤ ∥Av∗∥ ≤ lim inf
n→∞

∥Axn∥ = 0.

Therefore, we obtain Av∗ = 0.
From A(x) = ((bTx+ b0)(2Qx+ a)− b(xTQx+ aTx+ a0))/(bTx+ b0)2, we have A(x∗) = (1, 15

16 ,
7
16 ,

17
8 )T. Thus, for

all y = (y1, y2, y3, y4)T
∈ C(1 ≤ yi ≤ 10, i = 1, 2, 3, 4), we have

⟨A(x∗), y − x∗⟩ = (y1 − 1, y2 − 1, y3 − 1, y4 − 1)(1,
15
16
,

7
16
,

17
8

)T
≥ 0.

Thus, x∗ is a solution of VIP. From Lemma 2.8 we obtain x∗ ∈ SD, that is SD , ∅.
We now solve VIP with C and A given above. For all methods, we take x0 = [10, 10, 10, 10]′, x1 = [10, 20, 30, 40]′,

other parameters are shown in Table 1. We choose the stopping criterion as error = ∥xn − x∗∥ ≤ 0.0001, that is
log10 (error) ≤ −4. The corresponding results are reported in Figure 1 and Table 2.
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Table 1: Methods parameters for Example 5.1

C our Alg. 1 λ1 = 0.5 µ = 0.25 θn = 1 − 1
n+1 δn =

1
2 −

1
n+2

αn =
1
3 −

1
n+4 an =

1
n2

Alg. 1 in [37] λ1 = 0.5 µ = 0.25 θn = 1 − 1
n+1 δ = 0.5

αn =
1
3 −

1
n+4

Alg. 1 in [26] λ1 = 0.5 µ = 0.25 θn = 1 − 1
n+1 αn =

1
3 −

1
n+4

Figure 1: error ≤ 0.0001 for Example 5.1

Table 2: Number of iterations for Example 5.1
Algorithm Alg. 1 in [26] Alg. 1 in [37] our Alg. 1

Number of iterations 361 172 132
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Example 5.2. Consider the problem VIP whenever H is the classical L2[0, 1] space with the inner product and norm
given by

⟨x, y⟩ =
∫ 1

0
x(t)y(t)dt, ∥x∥ =

(∫ 1

0
|x(t)|2 dt

)1/2

, ∀x, y ∈ H.

Here the unit ball is taken as the feasible set and the nonlinear operator A : H→ H is given by

A(x) = (1.5 − ∥x∥)x, ∀x ∈ H.

It should be noted that the operator A in the example above is pseudo-monotone, and the solution to the
variational inequality problem is x∗(t) = 0.

Setting an appropriate stopping criterion in numerical algorithms is crucial to prevent computational
inefficiencies and conserve resources. The maximum allowed iterations in this study is 100. All the
parameters are shown in Table 3. Results of the proposed method against other algorithms are presented
in Figure 2 - Figure 5, showing a superior convergence rate, accuracy, and speed. The proposed method
is robust and insensitive to the initial guess. The proposed algorithm is computationally efficient and
valuable for solving similar problems. With a reasonable stopping criterion and superior performance, it
can be applied to a wide range of applications. This constitutes a significant contribution to numerical
optimization.

Table 3: Methods parameters for Example 5.2

our Alg. 1 λ1 = 0.6 µ = 0.9 θn = 1 − 1
n+1 δn =

1
3 −

1
n+3

αn = 0.5 an =
1
n2

Alg. 1 in [37] λ1 = 0.6 µ = 0.9 θn = 1 − 1
n+1 δ = 0.12

αn = 0.5
Alg. 1 in [26] λ1 = 0.6 µ = 0.9 θn = 1 − 1

n+1 αn = 0.5

Figure 2: x0(t) = x1(t) = 50t5 for Example 5.2
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Figure 3: x0(t) = x1(t) = 50 log t for Example 5.2

Figure 4: x0(t) = x1(t) = 50 exp(t) for Example 5.2



H. Li, X. Wang / Filomat 37:29 (2023), 9823–9844 9843

Figure 5: x0(t) = x1(t) = 50 sin t for Example 5.2

Acknowledgment

We would like to extend our sincere thanks to the anonymous referee who carefully reviewed our
manuscript and provided valuable suggestions.

References

[1] L. C. Ceng, N. Hadjisavvas, N. C. Wong, Strong convergence theorem by a hybrid extragradient-like approximation method for variational
inequalities and fixed point problems, J. Global Optim. 46 (4) (2010), 635–646.

[2] Y. Censor, A. Gibali, S. Reich, Extensions of Korpelevich’s extragradient method for the variational inequality problem in Euclidean space,
Optimization 61 (9) (2012), 1119–1132.

[3] Y. Censor, A. Gibali, S. Reich, Strong convergence of subgradient extragradient methods for the variational inequality problem in Hilbert
space, Optim. Methods Softw. 26 (4-5) (2011), 827–845.

[4] Y. Censor, A. Gibali, S. Reich, The subgradient extragradient method for solving variational inequalities in Hilbert space, J. Optim. Theory
Appl. 148, (2011), 318–335.

[5] R. W. Cottle, J. C. Yao, Pseudo-monotone complementarity problems in Hilbert space, J. Optim. Theory Appl. 75 (2) (1992), 281–295.
[6] Q. L. Dong, Y. J. Cho, L. L. Zhong, T. M. Rassias, Inertial projection and contraction algorithms for variational inequalities, J. Global

Optim. 70 (3) (2018), 687–704.
[7] Q. L. Dong, S. He, L. L. Liu, A general inertial projected gradient method for variational inequality problems, Comput. Appl. Math. 40

(5) (2021), Paper No. 168, 24 pp.
[8] Q. L. Dong, Y. Y. Lu, J. F. Yang. The extragradient algorithm with inertial effects for solving the variational inequality, Optimization (12)

65 (2016), 2217–2226.
[9] F. Facchinei, J-S Pang, Finite-dimensional variational inequalities and complementarity problems, Springer Series in Operations Research.

Vol. II. Springer-Verlag, New York (2003) pp. i-xxxiv, 625–1234.
[10] J. J. Fan, X. L. Qin, Weak and strong convergence of inertial Tseng’s extragradient algorithms for solving variational inequality problems,

Optimization 70 (5-6) (2021), 1195–1216.
[11] A. Gibali, D. V. Thong, A new low-cost double projection method for solving variational inequalities Optim. Eng. 21 (4) (2020), 1613–1634.
[12] P. T. Harker, J-S Pang. Finite-dimensional variational inequality and nonlinear complementarity problems: a survey of theory, algorithms

and applications, Math. Programming 48 (2) (1990), 161–220.
[13] X. Hu, J. Wang, Solving pseudo-monotone variational inequalities and pseudo-convex optimization problems using the projection neural

network, IEEE Trans Neural Netw. 17 (2006), 1487–1499.
[14] S. Jabeen, Noor, M. A. Noor, K. I. Noor, Inertial methods for solving system of quasi variational inequalities, J. Adv. Math. Stud. 15 (1)

(2022), 1–10.
[15] S. Karamardian, S. Schaible, Seven kinds of monotone maps, J. Optim. Theory Appl. 66 (1) (1990), 37–46.



H. Li, X. Wang / Filomat 37:29 (2023), 9823–9844 9844

[16] E. N. Khobotov, Modification of the extragradient method for solving variational inequalities and certain optimization problems, USSR
Comput. Math. Math. Phys. 27 (1989), 120–127.

[17] D. Kinderlehrer, G. Stampacchia, An introduction to variational inequalities and their applications, New York: Academic Press; 1980.
[18] G. M. Korpelevich, The extragradient method for finding saddle points and other problems, Ekon. Mate. Metody 12 (1976), 747–756.
[19] R. Kraikaew, S. Saejung, Strong convergence of the Halpern subgradient extragradient method for solving variational inequalities in Hilbert

spaces, J. Optim. Theory Appl. 163 (2) (2014), 399–412.
[20] H. W. Liu, J. Yang, it Weak convergence of iterative methods for solving quasimonotone variational inequalities, Comput. Optim.

Appl. 77 (2) (2020), 491–508.
[21] P-E Maing, Convergence theorems for inertial KM-type algorithms, J. Comput. Appl. Math. 219 (1) (2008), 223–236.
[22] Y. Malitsky, Projected reflected gradient methods for monotone variational inequalities, SIAM J. Optim. 25 (1) (2015), 502–520.
[23] Y. V. Malitsky, V. V. Semenov, A hybrid method without extrapolation step for solving variational inequality problems, J. Global Optim.

61 (1) (2015), 193–202.
[24] P. Marcotte, Applications of Khoboto’s algorithm to variational and network equlibrium problems, Inf. Syst. Oper. Res. 29 (1991), 258–270.
[25] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967),

591–597.
[26] Y. Shehu, O. S. Iyiola, S. Reich, A modified inertial subgradient extragradient method for solving variational inequalities, Optim. Eng. 23

(2022), 421–449.
[27] M. V. Solodov, B. F. Svaiter, A new projection method for variational inequality problems, SIAM J. Control Optim. 37 (3) (1999), 765–776.
[28] B. Tan, X. L. Qin, S. Y. Cho, Revisiting extragradient methods for solving variational inequalities Numer. Algorithms 90 (2022),

1593–1615.
[29] B. Tan, X. L. Qin, J-C. Yao, Strong convergence of inertial projection and contraction methods for pseudomonotone variational inequalities

with applications to optimal control problems, J. Global Optim. 82 (2022), 523–557.
[30] D. V. Thong, V. T. Dung, A relaxed inertial factor of the modified subgradient extragradient method for solving pseudo monotone variational

inequalities in Hilbert spaces, Acta Math. Sci. Ser. B (Engl. Ed.) 43 (1) (2023), 184–204.
[31] D. V. Thong, D. V. Hieu, Modified subgradient extragradient method for variational inequality problems, Numer. Algorithms 79 (2)

(2018), 597–610.
[32] D. V. Thong, D. V. Hieu, Weak and strong convergence theorems for variational inequality problems, Numer. Algorithms 78 (4) (2018),

1045–1060.
[33] D. V. Thong, N. T. Vinh, Y. J. Cho, Accelerated subgradient extragradient methods for variational inequality problems J. Sci. Comput. 80

(3) (2019), 1438–1462.
[34] P. T. Vuong, On the weak convergence of the extragradient method for solving pseudo-monotone variational inequalities, J. Optim. Theory

Appl. 176 (2) (2018), 399–409.
[35] Z, B, Xie, G. Cai, X. X. Li, Q. L. Dong, Strong convergence of the modified inertial extragradient method with line-search process for solving

variational inequality problems in Hilbert spaces, J. Sci. Comput. 88 (5) (2021).
[36] J. Yang, H. Liu, Z. Liu, Modified subgradient extragradient algorithms for solving monotone variational inequalities, Optimization 67

(2018), 2247–2258.
[37] Y. H. Yao, O. S. Iyiola, Y, Shehu. Subgradient Extragradient Method with Double Inertial Steps for Variational Inequalities. J. Sci.

Comput. 90 (71) (2022), 29 pp.
[38] Y. H. Yao, N. Shahzad, J-C Yao, Convergence of Tseng-type self-adaptive algorithms for variational inequalities and fixed point problems,

Carpathian J. Math. 37 (3) (2021), 541–550.
[39] M. Ye, Y. He, A double projection method for solving variational inequalities without monotonicity, Comput. Optim. Appl. 60, (2015),

141–150.
[40] X. P. Zhao, Y. H. Yao, Modified extragradient algorithms for solving monotone variational inequalities and fixed point problems, Optimiza-

tion 69 (9) (2020), 1987–2002.


